Adding and Subtracting
Matrices

Vocabulary

@ Review |
1. Circle the words whose meaning is similar to that of corresponding. _

different E
(matching) (hated Eimila) _

intersecting

@ Vocabulary Builder
a2 x 3 matrix

Boix?o_._&z»::.ru .|uu~
Reloted Word: matrices (plural) ﬁ 7 12 |L _

Definifion: A matrix is a rectangular array of numbers writien
Evﬂ%ﬁbﬂ%f?awﬁguﬁggﬂ;ﬁiﬂm

columnsisan m X n matrix.

@ Use Your Vocabulary

Write T for true or F for false.
4
0

25 3
T 3 Thematrix| -2 —18 |isa3 X 2 matrix.
4 13

T 2. Thematrix _H lmg has two horizontal rows and two vertical columns.

4. Write an example of a 4 X 3 matrix. 5. Write an example of a matrixwith one column.

4 2 0 :
Sample: s e Sample: | —11

1 1 0 )

46 o
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Toadd matrices A and B with the same d i add corresp

Similarly, to subtract matrices A and B with the same dimensions, w:.cn...n_
corresponding elements. Corresponding el are elements in the same positdon
in each matrix.
A= _Hn: a_nu_ B= _Hw: FL
ay Gn by by

A-B= _Hn: —by ap- Eu@

>+wn_Hn:+w: S~+FQ
ay — by az ~ b

ay + by ap + by

?E Adding and Subiracting Matrices

-12 24 -3 1
Got It? GivenA=| -3 5|andB=| 2 —4 | whatisd+B?
-1 10 -1 5
6. Use the justifications at the right to add the matrices.
-12 24 -3 1 14
A+B=|-3 5 |+| 2 ~4 | write the original matrices.
ﬁ -1 10 -1 s
B 1
—12 + (-3) 24+ 1
= -3+ 2 5+ A Ihv Add corresponding elements.
-1+ (-1 10+5
-15 25
=| -1 1 Simplify.
= -2 15

@ RN peEY Solving a Matrix Equation

1 6 -1 2 0 0
Goth? ¥B=| 2 6 1,C=[-1 -3 6 ,and A — B = C,whatisA?
-1 -2 4 2 3 -1

7. To solve the equation A — B = C for 4, you add Bto / subtract B from both sides

of the equation.

8. Solve the equation A — B = C for A. Write your answer below.

A= C+8B

<@
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